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When the brakes of a car are applied, the force on the front tires is much greater
than that of the rear tires. Calculate the magnitude of the friction forces, F, and F,,
on the front and rear tires of the car as shown in the figure when the car decelerates
ataratea=0.50g. The car has a mass M = 1200 kg, the distance between the

front and rear axles is 3.0 m, and its center of mass is midway between axles 75c¢m
above the ground. '
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Calculate the power required of a 1400-kg car under the following circumstances:
(a) the car climbs a 10 degree hill at a steady 80 km/h; and (b) the car accelerates
along a level road from 90 to 110 km/h in 6.0 sec to pass another car. Assume
friction retarding force on the car, F,, is 700N,

A 1000-kg car rounds a curvc on a (lat road of radius 50 m at a speed of 50 kmvh:
Will the car make the turn if (a) the pavement is dry and the coefficient of static
friction is 0.80, (b) the pavement is wet and the static friction is 0.20,

Two automobiles approach a corner at right angles to each other with the same

speed of 40 km/h as'shown in the figure. What is the relative velocity of one with
)
respect 1o the other,
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